

$$\int \frac{2x^4 + 2x^2 - 5x + 1}{x(x^2 - x + 1)^2} dx =$$

$$D = 1 - 4 \cdot 1 \cdot 1 = -3 \quad \text{nenáď kořeny}$$

$$\text{skupě: } 4 < 5 \quad \checkmark$$

$$= \int \frac{A}{x} + \frac{Bx + C}{x^2 - x + 1} + \frac{Dx + E}{(x^2 - x + 1)^2} dx$$

$$\textcircled{2x^4} + 2x^2 - 5x + 1 = A(x^2 - x + 1)^2 + (Bx + C)x(x^2 - x + 1) + x(Dx + E)$$

$$= A(\underline{x^4} - \underline{x^3} + \underline{x^2} - \underline{x^3} + \underline{x^2} - \underline{x} + \underline{x^2} - \underline{x} + 1) + B(\underline{x^4} - \underline{x^3} + \underline{x^2}) + C(\underline{x^3} - \underline{x^2} + \underline{x}) + \underline{Dx^2} + \underline{Ex}$$

$$+ Dx^2 + Ex$$

$$x^4: 2 = A + B$$

$$x^3: 0 = -2A - B + C$$

$$A = 1$$

$$B = 1$$

$$C = 3$$

$$E = -6$$

$$D = 1$$

$$2 = 1 + B$$

$$0 = -2 - 1 + C$$

$$x^2: 2 = 3A + B - C + D$$

$$x: -5 = -2A + C + E$$

$$1: 1 = A$$

$$-5 = -2 + 3 + E$$

$$\underline{-6 = E}$$

$$2 = 3 + 1 - 3 + D$$

$$= \int \frac{1}{x} + \frac{1x + 3}{x^2 - x + 1} + \frac{x - 6}{(x^2 - x + 1)^2} dx$$

ln|x|

$$\frac{1}{2} \int \frac{2x - 1 + 1 + 6}{x^2 - x + 1} dx =$$

$\frac{1}{2} \ln|x^2 - x + 1|$

chceme $2x - 1$

$$\frac{1}{2} \int \frac{2x - 1}{x^2 - x + 1} dx$$

$$+ \frac{1}{2} \int \frac{7}{x^2 - x + 1} dx$$

$$\rightarrow \frac{1}{2} \int \frac{1}{\left(x - \frac{1}{2}\right)^2 + \frac{3}{4}} dx$$

$$= \frac{1}{2} \int \frac{1}{\frac{3}{4} \left(\frac{x - \frac{1}{2}}{\sqrt{\frac{3}{4}}}\right)^2 + 1} dx$$

$$= \frac{1}{3} \int \frac{1}{\left(\frac{2x - 1}{\sqrt{3}}\right)^2 + 1} dx$$

$$= \frac{1}{3} \cdot \frac{\sqrt{3}}{2} \arctan \frac{2x - 1}{\sqrt{3}}$$

$$\int \frac{x-6}{(x^2-x+1)^2} dx = \frac{1}{2} \int \frac{2x-1+1-12}{(x^2-x+1)^2} dx$$

chose $2x-1$ $= \frac{1}{2} \int \frac{2x-1}{(x^2-x+1)^2} dx$ - $\frac{11}{2} \int \frac{1}{(x^2-x+1)^2} dx$

$$u = x^2 - x + 1$$

$$du = 2x - 1 dx$$

$$\frac{1}{2} \int \frac{1}{u^2} du = \frac{1}{2} \cdot \frac{-1}{u} = -\frac{1}{2} \frac{1}{x^2-x+1}$$

$$-\frac{11}{2} \int \frac{1}{(x^2-x+1)^2} dx = -\frac{11}{2} \int \frac{1}{\left(x-\frac{1}{2}\right)^2 + \frac{3}{4}} dx$$

$$= -\frac{11}{2} \int \frac{1}{\left(\frac{3}{4}\right)^2 \cdot \left(\left(\frac{x-\frac{1}{2}}{\sqrt{\frac{3}{4}}}\right)^2 + 1\right)^2} dx$$

$$= \frac{-8 \cdot 11}{9} \int \frac{1}{\left(\frac{2x-1}{\sqrt{3}}\right)^2 + 1} dx =$$

$$y = \frac{2x-1}{\sqrt{3}} \quad dy = \frac{2}{\sqrt{3}} dx$$

$$= \frac{-88}{9} \int \frac{\frac{\sqrt{3}}{2}}{(y^2+1)^2} dy$$

$$\int \frac{1}{(y^2+1)^n} dy = \frac{1}{2n-2} \frac{y}{(y^2+1)^{n-1}}$$

$$n=2$$

$$+ \frac{2n-3}{2n-2} \int \frac{1}{(y^2+1)^{n-1}} dy$$

$$= \frac{44\sqrt{3}}{9} \int \frac{1}{(y^2+1)^2} dy =$$

$$= \frac{1}{2} \frac{y}{(y^2+1)^{2-1}} + \frac{4-3}{4-2} \int \frac{1}{(y^2+1)^{2-1}} dy$$

$$= \frac{44\sqrt{3}}{9} \left(\frac{1}{2} \frac{y}{(1+y^2)^1} + \frac{1}{2} \arctan y \right)$$

$$= \frac{-44\sqrt{3}}{9} \left(\frac{1}{2} \frac{\frac{2x-1}{\sqrt{3}}}{\left(1 + \left(\frac{2x-1}{\sqrt{3}}\right)^2\right)} + \frac{1}{2} \arctan \frac{2x-1}{\sqrt{3}} \right)$$

alternativ

$$= \ln|x| + \frac{1}{2} \ln|x^2-x+1| + \frac{7}{3} \arctan \frac{2x-1}{\sqrt{3}}$$

$$+ -\frac{1}{2} \frac{1}{x^2-x+1}$$

$$+ \frac{-44\sqrt{3}}{9} \left(\frac{1}{2} \frac{\frac{2x-1}{\sqrt{3}}}{1 + \left(\frac{2x-1}{\sqrt{3}}\right)^2} + \frac{1}{2} \arctan \left(\frac{2x-1}{\sqrt{3}}\right) \right)$$

$$x \neq 0$$

$$(1) \int \frac{1}{(1+y^2)^n} dy = \int \underbrace{\frac{1+y^2}{(1+y^2)^n}} + \frac{-y^2}{(1+y^2)^n} dy$$

$$= \int \frac{1}{(1+y^2)^{n-1}} dy + \int -\frac{1}{2} y \frac{2y}{(1+y^2)^n} dy$$

$$u = y \quad v' = \frac{2y}{(1+y^2)^n}$$

$$u' = 1$$

$$v = \frac{1}{2-n} (1+y^2)^{n-1}$$

$$-\frac{1}{2} \frac{y}{(1-n)(1+y^2)^{n-1}} - \left(-\frac{1}{2}\right) \int \frac{1}{1-n} \frac{1}{(1+y^2)^{n-1}} dy$$

deromady

$$= \frac{y}{(2n-2)(1+y^2)^{n-1}} + \left(1 + \frac{1}{2-2n}\right) \int \frac{1}{(1+y^2)^{n-1}} dy$$

$$2) \int \frac{1}{(1+y^2)^n} dy \quad y = \tan z$$

$$dy = \frac{1}{\cos^2 z} dz$$

$$\int \frac{1}{(1+\tan^2 z)^n} \frac{1}{\cos^2 z} dz =$$

$$= \int \frac{1}{\left(1 + \frac{\sin^2 z}{\cos^2 z}\right)^n} \frac{1}{\cos^2 z} dz =$$

$$= \int \frac{(\cos^2 z)^n}{1} \cdot \frac{1}{\cos^2 z} dz =$$

$$= \int (\cos z)^{2n-2} dz$$

Möli pime $n=2$

$$\int (\cos z)^{4-2} dz = \int \cos^2 z dz$$

$$\cos^2 z = \frac{1 + \cos 2z}{2}$$

$$\cos^2 z + \sin^2 z = 1$$

$$\cos^2 z - \sin^2 z = \cos 2z$$

$$\int \frac{1}{2} + \frac{1}{2} \cos 2z dz =$$

$$= \frac{1}{2} z + \frac{1}{4} \sin 2z \quad \frac{\tan z}{1 + \tan^2 z}$$

$$z = \arctan y \quad \frac{1}{2} \sin z \cos z$$

$$= \frac{1}{2} \arctan y + \frac{1}{4} \sin 2 \arctan y$$

$$= \frac{1}{2} \arctan y + \frac{1}{2} \frac{y}{1+y^2}$$